NODELNO. A

LEAVE INDUSTRIAL ‘ .®
LEA'E

DOUBLE SIDED TOOLING COLUMN

o Material: Cast Iron FC300(JIS) / GG30(DIN)

° Heat treated (Normalized)

o Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated

o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

o MTP hole spacing: 50+0.02

o Application: Horizontal Machining Center.

o Features: Alignment bushing & thread insert at every hole
location, easily adapts to standardized jig components.

o Eye bolt & top cover included.

B | [0.02/300] 7]
‘ D ‘
\ ‘ i\
4 Js ®
; “ . - 0121058 - 61610015
LT N4f ,4}# ; ‘
= o =Bt i/t Byl
. ' . 1A 17
Al 423
L e ? % M12x1. M16x2 ‘
‘ M Cap-Screw hole Figure T
7 (Find in Page 7)
| Jo.021300[ Y]
H
[//]0021300] ]
KxP [_L[o027300] Y]
 K#0.02 i C i
| | ‘
¢eo0eoc0oooe ‘
2 3 4 516 7 8 9 10
© 06060606606 0 |
© 6 00 0l o606 e
©:6 00 066060
» 0 006066006
>
S| g |lecoeeoeo0oee T- MTP hol
3 @n@@@@@@@@@/ oe
06 6006606 o6 3-N
l leco 0 © 0|0 © © © © /
I 10® © e 6le 600 o OOL / ooL
= | — | ~
+l Il
& | ® l e+if[ 01:: l ‘g:iﬁt
FLF] E |2
I F | i

B CDEFGHKPS T

NN WP Nounfing K

holes

Nourti
g| MODELNO. A B CDEFGHKPS T N ONWPUY K

BP0 | 500 150 50 4050 00|50 5| 7102 Wha| Ntz M %] 4 | 0 |BPH-NBIO6 | 500| 500 60| 280|160 40|80) %0|50| 5 7| o1 | 2| 6| 4| 1
il e P 3 I I A g P a8 T Y R g ) e
BPIHIMOERH) | 6l 0 | | 20| BP0 | 6 0 LR
TN 1 o0 P 1 gt et Rl v o I g ) P e
BPIHAIBIOTSH | ThD [ MO | 95| PHhaEIOTSMG | 7D { I
PRI T ] e e o e i R o Y P A g o
BPIHENRIOASHL | B4 t 0| | 5| PRGOS | 4 14 w| |5
L | v g g i R P ] RS P T
BPIHAIAO00H2 | 100 17 BO| | 60| epthaaio-umps | 100 f Wl ™
TR 0 A g i L P e A g
e 0 4| |18 Bpthoio0b s | 0 0 I

*Special Design Welcome !

1-11 BASE SERIES



= = LEAVE INDUSTRIAL ‘ .®
LEATE

S geecc el

J e eee® & & 8

| &

o000 : A DOUBLE SIDED TOOLING COLUMN

L]
eece?®

‘ e:o @ P s 0 ® L o Material: High Strength Aluminum Casting.
| |e o @ oo (L o Alignment Bushing: SUJ2(JIS) / 100Cr6 (DIN), heat treated
| e ¢ ® o &€ o Threaded Insert: S45C(JIS) / CK45(DIN), heat treated

PO e eo L o MTP hole spacing: 50+0.02

e ®® o ¢ et ® et o Application: Horizontal Machining Center.

PR g8 o Features: Alignment bushing & thread insert at every hole

location, easily adapts to standardized jig components.
o Eye bolt & Top cover included.

B 1 Jo027300]Z]
D
\ ‘ \
i,/@; é é% - 012:05% - 91610015
o | V o | |
° . - © V ‘ V !
LT NN 7 & 73 |
= o 1} I W
o o . M12x1.75 M16x2 \
Figure T
I
‘ M16 Cap-Screw hole
i (Find in Page 7)
Z
| [0.021300] Y] //10.021300] z
H | [0.02/300| Y
50+0.02 o | C |
| .
600000000 |
(SRR R R N R R RO Y |
O & © 0 6 © & 6 O
©:0 O ©® ©| O © © © ©
QrO © © 10 © © © O
rO © © ©|6 © © 6 O
N T- MTP hol
<g$ @D@@@@@@@@@/ oe
éi@c@@@@‘@@@@@’ 3-N
? 00 © © © 0 © © 0 9 /
S —len
% o © © @‘@ ® & O o f | / 99
[Te] |
RIS T I O r— wfb_l_ [ A—— |
FIF E 25
I | | |
MODELNO. A B C D E F G H T WP"™W | MODELNO. A B C D EF GH T WPy
BPATO0S00S0012 | 9001 1| 150 320 {200 | 55 {0 a0 g2 g |12| 4 |38 BPATTHOOAO00EO0 | SO0 e oo Lo | 551 0 | a0 | s 12| 4 |2
BPA11-400400-050-12 | 650 176 86 || BPA11-400400-0650-16 | 650 176 8
BPATS00500060012 | 60| | g | |20 | 75|40 50| g | i |22 |51t BPAMT-SOOSOOBBU6 | 800 oo oo g 350 | 75 (a0 500 16 s |2 5 1]
BPA11-500500-0750-12 | 750 20 135 || BPA11-500500-0750-16 | 750 20 13
BPATT-O060070012 | 1001 oy oy 500|315 | 100 | 5 30| i || 28| 5 |14 BPATH-OS06SO006 | 7001 ooy oy e ot | 100 50| 630 o s L2 | 5 LT
BPA11-630630-0850-12 | 850 30 202 || BPA11-630630-0850-16 | 850 360 20
BPAT-S00800080012 | 800 | 1 | 300 a0 [ ann | 135 | 0 00 | 2 g |22 | (214 BPAIH-SOOBOC0BOE | 8OO oo e | 1351 0 | 0 | o s 22| 5 |24
BPA1-800800-1000-12 | 1000 540 318 || BPA11-800800-1000-16 | 1000 540 38

*Special Design Welcome !

2-5 HIGH STRENGTH ALUMINUM BASE SERIES



